
Bodenaufbau: 

Aufbau d (m) λ (W/mK) R (m2K/W ) 
R=d/λ 

Rsi    0,17 

Bodenbelag Estrich 0,02 0,47 0,04 

Trittschalldämmung 0,04 0,035 1,14 

Dämmung XPS 0,12 0,023 5,22 

Bodenplatte 

Stahlbeton 

0,15 2,3 0,07 

Rse    0,04 

 dges: 0,34  Summe Rges: 6,68 

U=1/Rges   0,148 W/m2K 

 

Schichten: 

 

 

 

 

 

 

Temperaturverlauf: 

 

 

 

 

 



Feuchtigkeit: 

 

 

 

 

 

 

 

Hitzeschutz: 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

Beispiel Rohrdurchmesser: 

4x 55m² Wohnungen, Bedarf pro Wohnung 80 m³/h 

4 × 80 m³/h = 320 80m³/h 

√v/(3m/s)  ×  3600 ×  π  = 0,237m 

 

Lüftung: 

Zu- und Abluftanlage mit 

Wärmerückgewinnung 

 

 

 

 

 

 



 

 

 

 

 

 





 

 

 

 


